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SECTION A (30 x 2 marks )

For each question from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval {1, 2, 3 or 4)
on the Optical Answer Sheet (OAS) provided.

1. The following table gives information on four plants, P, Q, R and S, based on two
characteristics. A tick ( V) shows that the plant has the characteristic.

From the above information, where do plants P, Q, Rand S belong to in the
following classification chart?
Plant J

Flowering ‘ Non-flowering

[ | |

r aquatic non-aquatic ‘l aquatic non-aquatic

(N
)
3)
(4)




The diagram below shows some vegetables and weeds growing together,

The vegétables have less of some of the following factors because of the weeds.
What are they?

A air

B: water
C: space

D : sunlight
E: nutrients

() AandB only

(2) B,CandE only
(3) A C DandE only
(4) A B, C Dand E



3. The diagram below shows a system in a human body.

blood rich
in oxygen

»

blood rich
in oxygen

blood rich
in carbon

- dioxide

Which one of the following represents'A, B and C correctly?

(1)
(2)
(3)

(4)

A

) B C
Lungs Heart Ot?ﬁé g?xrjt; of
Lungs Ot;ﬁ; Egﬁj of - Heart
Heart Otg?; Egg; of Lungs

7 the body Hear Lungs




4.

The graph below shows the stages in the life cycle of an insect and the length of
time it remains at each stage of its life cycle.

Number of
days

egg larva pupa adult

How many days does the insect take fo become an adult after the egg has
hatched? :

1 6
2y 18
(3) 22
@) 28



5. The flowchart below shows the characteristics of three animals, K, L and M.

. No
Does it lay eggs? » K

r

Start

Yes

Y

Does it have a No L
4-stage life

cycle?

v

'Yes'

r

M

Based on the above flowchart, which of the following statement(s) isfare definitely
correct?

A Khas a 3-stage life cycle
B: Llayseggs

C: Mgives birth to young alive

(1) Aonly
(2) B only
(3} BandC only

(4) A BandC




Cheryl conducted an experiment to find out the conditions needed for green
beans to germinate. She set up the experiment with four containers, A, B. C and
D. She placed three green beans in each of the foyr containers.

N P N N ;:ardboard
J box
dfy gfeeg beaﬂs moist
cotton | - \\\\ coiton
WOON] - d . " wool
Sy ) | \

A B
1__cardboard
\ ¢ - box y p
o greénbeans |-
placed in™ |
refrigerator

1 o™=

c 3

After four days, she observed that the green beans in containers B and D grew
into young seediings while those in containers A and ¢ did not.

Which of the following conclusions can she make from her experiment?

Light is necessary for the seediings to develop.

Water is needed for the green beans to germinate.

Oxygen is needed for the green beans to grow into seedlings.

: Without the right temperature, the green beans will not germinate.

Do wm>

(1) AandB only
{2) BandD only
(3) A,BandC only
(4) B,CandD only



The diagram below shows two uninhabited islands, P and Q. which are
surrounded by sea.

1

w

M

L
1

In 1999, four types of plants were found growing on Isiand P but none of these
was found growing on Island Q.

Some characte__risﬁcs of the fruits of the-four plants found on Island P are shown
in the tabie below.” ) : ! ‘

fibrous husk

sweet and juicy

hair-like structlfes

Nl <| x| =

dry fruit wall

In 2011, new plants were found growing on island Q. Scientists believe that they
originated from Island P. Which plant(s) could this/these most likely be?

(1) Wonly

(2) XandY only
(3} W, XandY only
4) X, YandZ only




In a desert, road runners are spotted racing across the desert fioor.

a road runner

Which of the following correctly explains how this behaviour helps the road
runners withstand the heat from the hot sand in a desert habitat?

(1)
@
3)

4)

By running at a great speed across the hot desert floor, the road runners
create wind resulting in less heat being.felt by their feet.

As the foad runners run quickly, the feet of the road runners leave the hot
desert floor fast enough for heat to be gained and lost quickly.

As the road runners run quickly across the hot desert floor, the moving air
cools down the heat between their feet and the hot desert fioor.

The surface area in contact with the d_es...ert floor is reduced as the road
Tunnefs alternate their feet when they run quickly across the hot sand.



Jessica is a dancer.

As Jessica dances, her breathing rate changes because she needs more
oxygen. Jessica's muscle cells produce carbon dioxide as she dances. Which of
the following shows how the carbon dioxide is removed from Jessica's body?

(1) muscle cells — bloodstream — windpipe — lungs — nose
(2)  muscle cells — windpipe — lungs — bloodstream — nose
(3} muscle cells — bloodstream —» lungs —» windpipe — nose
(4)  muscle cells —» windpipe — bloodstream — lungs — nose

- The diagram below shows a'magnifiéd view of the undersidé of a leaf bserved
under a microscope.

Which one of the following is frue about the opening labelled X in the diagram?

(1) it absorbs sunlight for the leaf to make food.

(2)  lttransports food made in the leaf to all paris of the plant.

(3) it enables the leaf to exchange gases with its surroundings.
(4) It controls the amount of water vapour lost to the surroundings.




11.

Study the flowchart of the human digestive system below.

Based on the information given

Food
enters

chewed into

Food is

Food is

smaller
pieces

fikely to be?

(M
(2)
3)

“4) |

pushed by
muscular
coniraction

Food is
churned into
a partially-
digested

—

form

1

Food is
completely
digested at

A

anus

v

Undigested
food is
passed into

B

of P :

Absorption
of Q

in the above flowchart, what are A B, PandQ

stomaléh | saliva nutrients
stomach large intestine | digestive juice water

small intestine anus saliva nutrients
- digestive juice water

“small intestine

large intestine

10




12, Mr Khoo wanted to carry out an investigation to show his
in water through their roots

Which of the following set-ups should he yse for his investigation?

()

3 live water g

.-l - = . - \

% 4:)/ hiyacinth N s
S

o
.‘-"
Lot
Choly

BT 500miof S 600 of
R waer [T 00
et S S

(2)

waler
(3)

live water

atificial
hyacinth water
hyacinth
500mt of Az irIHITIIIN
waler
4) N
Hve water
hyacinth
— S00miof IR HERCTTT  goon
: blue- sl red-
Coloured coloured
wWaier waler

11




13, This diagram below shows a water lily plant growing in a pond.

pond surface

water

Water lilies do not grow well in moving water but thrive well in a pond. Which of

the following best explains why they are unaple to do s07?

)

2
(3)

(4)

There is leés éissol\fed oxyéen in.moving water.
The roots are not long enough to hold the plants firmly to the soil,

The roots. are Spreading and thus are not able to hold the plants firmly
to the soil.

The stems of the plants have air sacs to enable the feaves and
flowers to be positioned above the water,

12



Desmond observed some organisms found on a plant over a period of time. He
counted the number of each type of organisms he found on the plant and then
recorded the results in the graph below.

Number of
organisms

snail spider sparrow  lizard

~-Organisms

Based on the data recorded in his graph, which of the following statements is/are
definitely correct?

A:  The plant forms a community.

B: Thereare four types of spiders on the plant.

C: The piant is the habitat of the organisms. _

D: Thereis a total of 19 populations of organisms on the plant.

E: There are at least four pbpulations of animals living on the plant.
(1) Conly

{2) AandBonly
(3) CandE only
(4) B,DandEonly

13




15.

Patricia collected three different types of animals, X, Y and Z, from a pond and
put them into two fish tanks, A and B. She put animals X and Y into fish tank A
and animals X and Z into fish tank B. She also put in the same amount of hydrilla
plants into both fish tanks.

She counted the number of the three animals in each fish tank every day for a
week and plotted her findings in the graphs below. She did not notice any dead
animals in both fish tanks.

number 4 number 4
of of :
animals animals

time (c:lays_)= - time(days)
.. Fishtank A , -~ FishtankB -

From the information given in the above two graphs, which of the following
correctly shows the relationship between animals X, Y and Z?

(1) Plant > X > Y o> 7
{2) Plant > ¥ - X = Z
(3) I?lant - Z - X = Y
"4 Plant » Z -5 Y o X

14



16.  Study the food web shown befow.

Which of the following statements are definitely true about the food web given.

above?

A1 Organism Uis an animal-eater.

B: Organism Zis a plant-and-animal eater.

C:-  There are five food chains in the food web,._; :

D:  Adecrease in the nt;r“nber of W will also result in a decrease in the number
of V,Xand Y.

(1) AandD only

(2) BandC only

(3} A Band c only

(4) A/ B, CandD

15




17.

Alex wanted to show that carbon dioxide is needed for photosynthesis to take

place. He set up the experiment using four similar plants as shown in the diagram
below.

. sunlight | sunfight
N\ N\

- Agaledina
- Clear plastic
- bag

| chgmicalte
remove { remove
carbon . carbon
fﬁiﬂ}(ﬁde dioxide
Set-up C ' Setup D

Which two set-ups should Alex use for his investigation?

(1) AandC
(2 AandD
) BandC
4 BandD

16



18.

OO0 w>

The table below shows the states of four substances, P, Q. Rand S, at three
different temperatures.

P

Q gas gas gas

R solid solid liquid

S solid liquid liquid
- | ] a au

Which of the following statements are definitely correct?

'3

Substance P has the highest freezing point,
© Substance Q has the lowest bailing point.

*  Substance R boils at 100°C.

Substance § freezes at 0°C. -

(1) AandBonly
(2} Cand D only
3) A, BandC only
4) AB,CandD

17




19.

Gary set up an experiment usin

bel

B was suspended from a spring bala

g two

Si

ow. Magnet A was placed on a very

spring balance

Magnet B

Magnet A ——

~ weighing pan of

electronic batance

string

milar magnets as shown in the diagram
sensitive electronic balance while Magnet

nce.

=

—

retort stand

Which of the following predictions about the readings on the electronic balance

and spring balance is correct when Ma

facing the North-pole of Magnet B?

(1)
)
(3)
4

gnet A is inverted with the South-pole

increase increase
increase decrease
decrease decrease
decrease increase

18



20.

The diagram below shows the wa

taking place at each stage of the cycle.

rain

tercycle. X, Yand Z represent the processes

y

water bodies

X
< clouds
z
Y water vapour
> in the air

Which one of the following correctly indicates what takes place at X, Y and Z?

(1)
(2)

@)

(&)

7
Change of state Heat is gained by the | Heat is gained by the
waler. water vapour.
Change of state Heat is lost by the Heat is fost by the
water. water vapour.
No change of state Heat is lost ‘t_)y the Heat is gained by the
S - water. , water vapour.
No change of state Heat is gained by the Heat is lost by the
‘ water. water vapour.

19




21.

The diagram below shows how livin

environment.

Organism M

Cérbon
dioxide

g things exchange gases with the

Key
e Process A

e = Process B

-

—

Organism N

Which one of the foliowing statements is definitely incorrect?

(1)
2)
3)
(4)

Organism M could be a plant.
Process B takes place all the time.
Water is needed for Process B to take place.,

Water is produced during Process A.

20



22. Gordqn had three rods, X, Y and Z, made of different materials. He tested their
electrical conductivity by placing them at positions A, B and C as shown in the

circuit below.
i _“‘*‘—’ | ! !l f\l

B1 I

—®

B B2
e

B3
C

The results of the experiment were recorded in the table below.

A

A B

X, | Ly -
B1 B2 B3
Yes No Yes

He then repeated the experiment by placing the rods at different positions as
shown in the table below.

(1)

@) Lit Lit Lit
3) Lit Unlit Lit
4) Lit Lit Unlit

21




23.  Angelina carried out an experiment as shown below.

rubber batl

wooden observed expected
support position. position
~1

A

] 1
. 1

s

wooden block

When she released the rubber ball from Position P on the ramp, the wooden
block did not move as far as she had expected. Which of the following changes
would allow the block to reach the expected position?

Use a ball with a greater mass. o

A .
B: Usearamp with a rougher surface. -
C Release the rubber ball from Position Q.
D

Lower the héight of the wooden support.

(1)  Aonly

(2)  AandBonly
(3) CandD only
(4) B, CandD only

22



24.  Susan crouched down over the handle bars of her bicycle as shown in the
diagram below while competing in a race.

Which of the following correctly explains why crouching down over the handle
bars helped her to move more quickly forward?

IO
2)
(3)
)

‘Gravitational force was reduced because the body was lowered.

Body weight was reduced as energy was converted to heat and sound.
Air resistance against her body was reduced as she streamlined her body.

Greater force was exerted to the front wheel to increase friction between
the wheel and the ground.

23




Three similar healthy plants, X, Y and Z, were selected for an expern: -
The diagram below shows the results obtained at the end of six week.

Which of the following could probably explain why Plant 7 was different .. -
appearance from plants X and Y at the end of the experiment?

A ltwas given a different type of sail.
~.-B.L It feceived a different amount of light.

C: Itwas given a different amount of soil:

D: Itreceived a different amount of water.

(1)  Aand Conly
(2) BandD only
(3) B,CandD only
(4 A B,CandD

24



26.

The diagram below shows how ene

another,

rgy can be converted from one form to

Kinetic Energy

Electrical Energy

r

Heat Energy

‘Which set of activifies best re

above?

(1)

Turning a win

Rﬁbbing your.

presents the conversion of energy as shown

Using an electric

Using an electric

turbine hands together | iron motor
Rubbing your Using an electric Using an electric | Turning a wind
(2) . e
hands together | iron motor turbine
3) Using an electric Using an electric Turning a wind Rubbing your
iron motor turbine hands together
@) Using an electric | Turning a wind Rubbing your Using an electric
motor turbine hands together |iron

25

_




27.

Study the diagram below carefully.
Deivin uses a hot plate to heat two beakers of tap water, X and Y, at the same
time.

o
Volume of water (mi) 80

]

Temperature of water before
heating (°C)

“hot piate

Which of the following statements about the above experiment are frue?

A:  Heat energy travels from the hot plate to the water in the beakers.

Electrical energy is changed to heat energy when the circuit is closed.

are heated. : .
More heat energy is needed to boil the water in Beaker Y than the water in

B:

C: - Both beakers of water have the Same amount of heat energy before they
D:

) Beaker X_ '

(1) BandcC onily
(2) A,BandD only
3) B,CandD only
4) A B, Cand D

26



Which of the followin
changes from Stage

(1
(2
(3)
@

at its maximum

g correctly describes h
A to Stage D of her di

ow the kinetic energy. of Julie
ve?

27

decreasing decreasing decreasfng
]
at its minimum increasing Increasing increasing
]
at its minimum increasing increasing at its maximum
at its maximum decreasing decreasing at its minimum
S




29.  Steven switched on a torch and shone it from Position H at a wooden block
positioned at J as shown in the diagram below. A shadow was cast on a white
screen held in place at Position t_.

white screen —

o

i
l .. .. k_v.‘ - - - e .
G Hooo o _ KoL

At which positions, G, H, I, J and K, should the torch and the wooden block be
placed respectively so as to obtain a smaller shadow on the screen than before?

A
B H K
c | | J
D J K

(1) Aand B-only
(2)  AandD only
(3) BandC only

{(4) CandD only

28



30.

Sally classified the energy that the following objects possess into three groups, P,

Q and R, such that there were exactly two objects in each group.

Which of the following correctly represents the most likel

a bottle of petrol

a tub of ice cream
moving water in a river

a compressed spring in a foy

a rolling ball along a flat surface

a stretched rubber band in a catapult

P, Qand R?

(N

(2)

Chemical potential
" energy:

Sound energy

y headings for groups

. Kinetic energy .

Gravitational potential

energy

Elastic potential
energy

Heat energy

(3)

Heat energy

Gravitational potential

energy

Sound energy

(4)

Chemicat potential

energy

Elastic potential
energy

Kinetic energy

29
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SECTIONB (40 marks )
Write your answers to questions 31 to 44 in the spaces provided.

31.  Two pupils planted an equal number of similar seeds in 3 different trays at each
temperature as shown below. The seeds were provided the same amount of
sunlight, the same type of garden soil and watered with the same amount of
water daily for six days.

00000

Tray A Tray B
B
Their results are shown'in the table.

3oy

) B 15 0 0 T 5 g
c 25 0 8 13 | 17 | 20
(8)  What was the aim of their experiment? 11

(b) Based on the resuits in the table above, put a tick (V) to state whether each
conclusion below is true, false or not possible to tell. T ‘2]

The earliest germination was
observed in seeds placed at
25°C.

All types of seeds would
germinate best at 25°C.

5°C was too cold for seeds to
germinate.

Seeds would not germinate
above 25 °C.




32, Muthu wanted to find out if the number of butterflies landing on flowers was
affected by the colour of the flowers. He made three identical flowers out of the
same type of paper but of three different colours. He attached a ball of cloth
soaked in 10 m! of sugar solution to the middie of each of the three flowers as
shown in the diagram below.

cloth soaked in 10 mi of sugar solution

flower petals flower petals flower petals
with colour A with colour B with colour C

Muthu placed the three flowers in the garden and counted the number of
butterflies that landed on each flower over a period of four hours.

(8) " How did using the same amount of stigar scliition in the experiment help 1o
ensure a fair test? | 1

Muthu recorded his observations in the table below.

3 4 3 3

(!9) Based on the experimental results, which colour of flower, A, B or C, would
have the highest chance of being poliinated? Explain your answer. [1]




33.  Pineapple juice contains a sub
Jeremy did an ex
below.

stance that aids in the digestion of food.
periment to investigate the digestion of jelly cubes as shown

-

r 3

Ne Ns) &)

A B C
24 jelly cube 59 jelly cube Sgjelly-cube
' + o + " chopped into
15ems 15 cme fresh pieces -
cold water pineapple +
juice 15cms fresh
pineapple
juice

- .. He recorded how lang it téok— for the jelly to be broken d

own completely in each’
test tube. The table below shows his results..

jelly not broken down after 2 h

B jelly broken down in 2 h

jelly broken down in 1 h

(@) What was the purpose of using test tube A? (1]

(b)

Based on the resuits, explain how chewing of food helps in digestion. {21




()  The substances that s
boiled. To test this hyp
D together with the set
In the blanks provided

Carry out a fair investigation.

A
54 jelly
cube
B2
15 om’

. Cold water -

5q jelly cube
+

el

B

t5em? fresh

pineapple

L juice . -

peed up digestion stop working when they have heen

othesis, Jeremy needs to use a fourth test-tube, labelled
-up used in the earlier experiment.

below, write down what he has to put in test tube D to

(1]

C s
5gjeliy cube
choppad iato
pieces
+

.. 15ema frosh

pineapple
juice




34. The diagram below shows aphids and a ladybird on a stalk of a plantin a

garden.
aphids
. ladybird
Study the food chain below.
Plant — Aphid — Ladybird — Bird
(@ Name thé source of energy for the plant in the above food chain. [1]

(b)  Why do the plants grow better-when there are a lot of ladybirds in the g:—:trclerr.)[1
]




The graph below shows the change in the number of aphids living on the same
type of plants in the garden over a period of seven weeks.

Number
o]
aphids

S0 T2 .3 4 5 6 7Time (weeks)

()  Ata certain time, a flock of birds arrived at the garden. The population of the
aphids started to change rapidly after Week 4 as shown in the graph-above.
Give a reason why the presence of the birds caused this change. 1]




35.  Daniel wanted to find out how the intensity of a light source affects the rate of
photosynthesis of hydrilla plants.

He placed an inverted glass funnel filled with water and a hydrilla plant placed
inside it in a beaker of water. He then placed an inverted test-tube containing
water over the stem of the inverted glass funnel as shown in the diagram below,
He then placed a brightly lit torch at a distance d away from the beaker.

— test tube

3 . beaker
—— water
Light source -
— hiydrilia I
| [ !
d

After 20 minutes, he'-céunterd the number of bubbles rprodt]ced by the 'hyd}illa
piant over 30 seconds. He repeated the procédure five more times, increasing
the distance between the brightly lit torch and the beaker, d.

He recorded his observations in the table below.

10 55
20 ‘ : 48’
30 ' 33
40 27
50 15
(@  Identify the gas in the bubbles collected in the test-tube. {1]




(b) Draw a line graph in the space below to show the relationship between the
distance of the light source from the beaker and the number of bubbles.

(1]

Number of bubbles

F 3

.

Distance of light source from the b’eak‘er, d (cm)

() Explain the graph you have drawn in (b). [1]




36.  An equal amount of boiling water was poured into each of the two confainers, A

and B, of similar shape and size as shown below. The containers were then
tightly sealed and left in the school field for an hour.

-

N~ ~N_

. Container A o Container B-

The téb-fe' beldw shows the time the water in eac
room temperature.

h container took to ‘cool down to

26

(@)  Suggest why the water in the two containers took different lengths of time to

cool down to room temperature. (1o

The experiment was repeated with a copper rod placed only in Container A as

shown in the diagram below.

caopper rod

—

Container A Container B




The table below shows the time the water in each container took to cool down to
room temperature.

(b)  Explain why there was a difference in the time taken for the water in Container A
to-cool down to room temperature. {1

(¢) How can we cause the temperature of the water in Container A to cool down to
room temperature even faster without making changes to the second set-up? [1]

10



37.  Michael wanted to find out the
experiment with diffe

properties of some materials. He conducted an
rent materials and recorded his findings in the table below.

B Yes Yes
C No No
D Yes Yes
B - Yes Yes

(@)  Based on his findings, what can you congclude about the likely relationship

between a conductor of electricity and a conductor of heat?

(1]

(b)  Michael then classified the materials into two groups. Fillin the possible

headings of the two groups in the classification table below.

Materials

11

mow

1]




38.

(a)

(b)

(©)

Some pupils predicted that water will evaporate faster if the surrounding air
temperature is higher.

To investigate their prediction they poured equal amounts of water into two
identical containers and placed them in two different rooms, Room A and
Room B.

State the variable they should change for them to verify that their prediction is
correct. [1]

They recorded the volume of water in the container in Room A and Room B
every day for 5 days. The table below shows their results.

State one other factor they should keep the same for their investigation to be
fair. -1

Based on the results in the table above, which room. A or B, had a higher
temperature. Give a reason for your answer. {1}

12




39.

Nathan built a puzzle circuit with three identical bulbs and two dry ceills.
He covered the connections to the bulbs with a piece of card as shown below.

f ]

card

All the bulbs were switched on and.then Nathan removed bulbs A, B and C one
at a time. Before connecting each bulb back into the circuit, he observed the

effect on the other two bulbs as each bulb was removed from the circuit. He
recorded his observations in the fable below.

A B and C remained lit
B A remained lit but not C
C A remained lit but not B

13




(a)

(b)

(),

Based on the information given, complete the circuit diagram below to show
how the three bulbs could be connected. [1]

-

Which bulb, A, B or C, was the brightest? Give a reason for your choice (1

Nathan added a switch to the above circuit in (a) so that he could switch all
three bulbs on and-off at the samé time. '

Mark “X' on the above circuit diagram in (a) to indicate where this switch could
be piaced. (1]

4




4Q.  Jimmy makes two bridges from strips of cardboard cut as shown below.

o
3 4 -

corrugations
across the bridge

bridge A

bridge B

cofiugations
atong the bridge

He tests the strength of the bridges by adding masses on top of each of them.

He measures the distance from the bench to the bottom of each bridge, d, for
different masses as shown below.

cardboard bridge

_wooden
distance black .

measured,

benich

15




(a)

100 7.1 7
200 7.0 6.5
250 . . . 88 o B
300 3 5.6
_ 350 0 5

Jimmy records the results of his investigation in the table below.

Which bridge would be better for carrying a 2009 toy car? Explain your answer.

(1

(b)

When a mass of 350 g was placed on Bridge B, the distance d was 5 cm.

Predict what-distance d would be if this mass was dropped 10 cm vertically
above Bridge B. Explain your answer. [2]
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41.  Jonathan carried out the following experiment. He held a strong magnet in place
on top of a table. A steel paper clip, tied to a support by a string of length 26 cm,
was found to be floating in the air as shown in the diagram.

support

26 cm long string

table top

.st.eel
paper clip

(a)  Explain why the steel paper clip floated in.the air as shown in the diagram. 2]

In a second experiment, Jonathan heated the same.magnet to a certain
temperature and set up the apparatus the same way as in the first experiment.
He observed that the steel paper clip did not float in the air unless a longer
string of tength 28 cm was used.

(b)  Explain why he had to use a longer string of 28 cm. _ (1}
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Jason carried out an experiment as shown below near an open window.

clamp to hold ¢ q : _ wooden
the cane in s ron.g an = ruler
I elastic B
plac cane —
table top \ N
container :
of water B
p ¢ 'l 2 cim

He started the experiment with 250 ml of water in the styrofoam container hung
at.one end.of the cane. He recorded the amount of water feft in the container as
well as the difference in the height between the boitom of the container and the
floor, d, for a period of time.

He then plotted the following graph to show how the amount of water left in the
container changed with time. -

A

250

Amount of
water left
in the
container
(ml)

¥

0 9
Time (h)
Based on the graph above, what was happening to the water in the container
over fime? [1]
1
18




(b}  Complete the graph below to show how the value of d would change over time.

(1]

R

i .
L S T SRS NS SO S SO S K
LR R S S s SRR SO SO SN SRS S
e T s P PR
T A T b .
S N S S L O
e T T W
R e R --------------------- -
- S S N S N S
e et s N [N
e S N S S AN S
T~ ““ ------------------------- Fomesee- o “
B A A B B B ey e

Time (hours)

(c) Based on the graph you have drawn in (b), explain why the value of d changed
over time. (1]
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43.

@

(b)

(c)

Timothy uses a falling mass to split wooden logs.

The 5 kg mass sfides down the rod and hits the metal blade. The force on the
blade splits the iog.

To lift the mass Timothy uses energy stored in his muscles. He releases the
5-kg mass from a height, h, before the blade hits the log to split it.

Trace the energy conversion from the moment the 5-kg mass is released fill it

hits the blade. {1]
—> —> +

énergy of the energy of the ehergy ' 'énergy

o-kg mass falling mass

when the mass hits the blade

When lubricant is applied to the rod, it makes it easier to split the log. Exp!ain
why this is so. . . : o ' - [}

Timothy then released a 10-Kg mass from the same height, h. Would it be

easier for him to spilt the log? Expiain your answer. [1]
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44,

(a)

(b)

The diagram below shows James using his laptop.

James could see a drink can on the desk he was working on as shown below.
Draw on the diagram below a ray of light to show how the light from the lamp
help him see the drink can. -

(1]

As James pushed the drink can from position A to position B, the shadow of the
drink can formed on the table changed. The box on the left shows the shadow
of the drink can at position A. The box on the right shows the. possible shadows
of the drink can at position B. Trace and shade the correct shadow of the drink
can formed on the table at position B in the box below. [1]

A

4

-

!
]
\

e ————
.
\
!
T Y 4

-4 Sy ‘d\b,

i et L
Sl;at-::?;v ic Shadow at
position position B

== End of Paper -g-cea
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EXAM PAPER 2012

SCHOOL : HOKKIEN
SUBJECT : PRIMARY 6 SCIENCE

TERM : SA2
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31)a)1tis to find out what teni‘perature_ is the most suit;ible for seeds to
gern?ina!:g. A o LT Coael .
“b)T, Not, F, Not

32)a)it ensures that the butterflies will be attracted by the colour of the
flowers and not the amount of sugar solution.
b)Colour B. It has the mﬁgstfnum.ber of butterflies landing on it.

) 33)a)Test tube A is used as C control to prove that the broke down of the jelly
- is caused by the pineapple juice.
b)It took a shorter time for the jelly to be digested when it was chopped
into pieces just like chewing, chewing the food made the food into smaller
pieces and increased the exposed surface area of the food,

€)5g jelly cibe chopped into pieces + 15cms of boiled pineapple juice

34)a)Sun.

b)When there are more ladybirds, the aphids feeding on the plant will be
€aten up so less aphids will feed on the plant.

c)The birds ate the ladybirds while feed on the aphids, ca using the
population of the aphids to rise. )
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35)a)Oxygen.
b) 1

-
L

. €)As the distance the light source was from the beaker increases, the
intensity of light decreases and hence, the rate of photosynthesis also
decreases and hence the number of babhies produced decreases.

36)a)The material used to make container A was poorer conductor of heat
than the material used to made material B and the water lost heat faster.

b)The copper rod which was a good conductor of heat helped to conduct
heat-away to the surrounding thus caoling the water faster. R
-7 7 €)By blowing at the water Container A. "

37)a)Material that conduct electricity can also conduct heat well.
b)non-metals / metals

38)a)The temperature of the surrounding air. :

b)The same initial temperature of the water in the two rooms.

C)Room B. The amount of water left.in_the warmer room would be less than
the amount of water in the cooler room.

A

39)a)c)

| ,
¢ .
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39)b)Bulb A will be the brightest. Bulb A receives more electrical energy than
Bulb B and C.

40)a)Bridge A. Bridge A bent less than Bridge B when a 2009 weight was
added to the bridge.

b)It possessed greater gravitational energy which converted to greater
kinetic energy when it was dropped from 10cm vertically above the bridge
then when it was placed on the bridge.

41)a)The steel paper clip was a magnetic material and it was able to be
attracted by the magnet. The magnetic force was able to overcome the
gravitational force.

b)The magnetic force of the magnet was weakened after heating thus the
steel paper clip need a fonger string.

42)a)The water was evaporating.

b) .T.

c)Over time, the water would have evaporated and the mass of the water
. and container together will decrease resulting a smaller weight on the wooden .
cane and hence, d would increase.

43)a)Gravitational Potential energy->Kinetic energy-> Sound energy + Heat
energy

b)The lubricant reduces friction between the mass and the rod resulting in
greater kinetic energy and hence, greater force acting on the log making it
easier to split the log.
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44)a)

Shadow at
position B

Page 4




	Hokkien 5


